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1. Evaluate / sin” 6 cos® 6 df = —
0 12

2. Evaluate / sin?z dx =
0

o] =

3. Find the limit of the function f(z,y) =

x? 492

is continuous on k2, thena =5

o 2
5. Evaluate / ——dx = £
o (1+2?)2 2

1 1. -2
. Eval = -1 :
6 Vauate/x2_4dx 4n|:c+2’+c

1
7. Evaluate /tanx secd x dr = 3 secz + C.

1
2 1
8. Evaluate / V1 — 422 doe = 5
0

o0 1
9. Evaluate/ re ™ dr = =
0 2

L35 ~ ZFP 8. (60 &)

2

. X
1. Show that lim y

7 does not exist.
(z,9)—=(0,0) T* + Y

2. (i) Evaluate / sec® z dx.

(ii) Use the result of (i) to evaluate / V1+ 2?2 dw.

dzx.

X
3. Evaluate /
V3 —2x — x?

/:c4_23:2+4:z:+1
4. Evaluate dx.
-z —x+1

when (x,y) — (0,0) along the line y = 2.



=
5. Evaluate - _ dl’
0 1'2 — 6x + 5)

6. (i) Write out the form of the partial fraction decomposition of the function f (a:)

1
(i1) Evaluate / (— dx.

22— 1)2
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1 1 /

2 (1) §secwtanx—|— §ln|secx+tanx\ +C 7.2 — 5|42 8
1
(ii)g\/1+x2—|—§ln|\/1+x2+x|+0
1
3 — V3 22 — 2% —sin! (:E;_ )—l—C’ 7.3 — AT
x? 2 )
4 ?+x+ln|x—1|——l—ln|x—|—1]+k 74— H4E 4
‘I‘_
5 | oo 7.8 — ¥ 4L 33
A B C D
6 i = 74— ¥ 4R 21
W 1) =77 (r+12z—1" (z—1) AL
1 1 1 1 1
i) - 1 |- |—| - mljg—1-—+C
(i) gInje+1 4‘$+1 gl —U-gp =yt
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